
MOSFETBJT 
SaturazioneAttiva Spento Lineare

D D
E-nMOSFET D-nMOSFET

ID IDD D
E-nMOSFET D-nMOSFET

IDID IDID
SpentoSaturazione

VGS < Vt 
ID=0 

VGS > Vt  e 
V DS > VGS – Vt 
(o VGD < Vt)

IB

I

IC

E

C

B
n p n

VBE = 0.7 V

IC = βFIB

IE = (βF+1)IB

VBE = 0.7 V

VCE  = 0.2 V

IC < βFIB

IB = 0

IC = 0

IE = 0

B

D

G

S

B

D

G

S

ID ID

B

D

G

S

B

D

G

S

IDID IDID
VGS > Vt  e 
V DS < VGS – Vt
(o VGD > Vt)

V > 0 V < 0

VGS < Vt e 

IEE
VCE  > 0.2 V VBE < 0.7 V

SaturazioneAttiva Spento
S S

E-pMOSFET D-pMOSFET
IDID IDID

V > VVGS < Vt e 

Lineare SpentoSaturazione

VGS >0, V DS > 0, λ > 0Vt > 0 Vt < 0

GS t  
V DS < VGS – Vt 
(o VGD > Vt)IB

IE

IC

E

C

B
p n p

VBE = -0.7 V

IC = βFIB

IE = (βF+1)IB

VBE = - 0.7 V

VCE  = - 0.2 V

IC < βFIB

IB = 0

IC = 0

IE = 0

B

D

G B

D

G VGS > Vt 
ID=0 

GS t  
V DS > VGS – Vt 
(o VGD < Vt)

VGS < 0, V DS < 0, λ < 0Vt < 0 Vt > 0

⎛ ⎞= ⎜ ⎟
⎝ ⎠

' 2
DSS n,p t

1 WI k V
2 L

C E F B

VCE  < - 0.2 V

C F B E 

VBE > -0.7 V

2

Lineare

Saturazione

( )⎛ ⎞ ⎡ ⎤= − −⎜ ⎟ ⎢ ⎥⎝ ⎠ ⎣ ⎦DS

' 2
D n,p GS t DS

W 1I k V V V V
L 2

Piccolo segnale
0

m

r
gπ
β

=iB iC
CB

μ='
n,p n,p OXk C 2

GS
D DSS DS

t

VI I 1 (1 V )
V

λ
⎛ ⎞

= − +⎜ ⎟
⎝ ⎠

Saturazione

( )λ= +m DSS D DS
t

2g I I 1 V
V

+1 V

iG=0 iD
DG

+ gmvGS

= C
m

T

Ig
V

E

CB

r0vπ

+

_

gmvπrπ
β0iB

+V V

Piccolo segnale

λ
λ

+
= ≅

DS

0
D D

V
1r

I I
S

r0
vGS

_

gm GSE +
= A CE

0
C

V V
r

I



D
n - JFET

D D
E-nMOSFET D-nMOSFET

ID ID ID

GBG BG

ID ID ID

SS S

S S S
E-pMOSFET D-pMOSFET p - JFET

B

S

B

S

G

SID ID ID

B

D

G B

D

G

D

G

D D D


